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Tax Deduction at Source (TDS) and Tax Collection at Source (TCS) Calculations:  

The Indian taxation system relies on Tax Deduction at Source (TDS) and Tax Collection at Source (TCS) to 

streamline tax collection and reduce evasion. While TDS involves deducting tax from income payments 

(e.g., salaries, interest), TCS requires sellers to collect tax on specific transactions (e.g., sale of goods). 

This guide explains how to calculate TDS and TCS, including practical examples, compliance steps, and 

key differences.   

Part 1: Tax Deduction at Source (TDS) Calculations   

Key Concepts   

- Deductor: The entity/person making the payment (e.g., employer, bank).   

- Deductee: The recipient of the payment (e.g., employee, contractor).   

- TDS Rate: Varies based on the nature of payment and the deductee’s PAN status.   

- Threshold Limits: TDS applies only if the payment exceeds specified amounts.   

Steps to Calculate TDS   

1. Identify the Transaction: Determine the type of payment (salary, rent, interest, etc.).   

2. Check Applicability: Verify if the payment exceeds the threshold limit for TDS.   

3. Apply the Correct Rate: Use the rate prescribed under the Income Tax Act for the transaction.   

4. Deduct TDS: Calculate tax on the amount exceeding the threshold (not the entire payment).   

5. Deposit TDS: Remit the deducted tax to the government by the due date.   

TDS Calculation Examples   

Example 1: TDS on Salary (Section 192)   

- Scenario: An employee earns ₹12 lakh annually.   

- Calculation:   

  - Taxable Income: ₹12 lakh (after deductions like HRA, standard deduction).   

  - Income Tax Slabs (FY 2023-24, Old Regime):   

    - Up to ₹2.5 lakh: Nil   

    - ₹2.5–5 lakh: 5% = ₹12,500   

    - ₹5–10 lakh: 20% = ₹1,00,000   

    - Above ₹10 lakh: 30% = ₹60,000 (on ₹2 lakh)   

  - Total Tax: ₹12,500 + ₹1,00,000 + ₹60,000 = ₹1,72,500   

  - Monthly TDS: ₹1,72,500 ÷ 12 = ₹14,375 deducted monthly.   
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Example 2: TDS on Fixed Deposit Interest (Section 194A)   

- Scenario: A senior citizen earns ₹60,000 in FD interest annually.   

- Threshold: ₹50,000 for senior citizens.   

- Amount Subject to TDS: ₹60,000 – ₹50,000 = ₹10,000.   

- TDS Rate: 10%.   

- TDS Deducted: 10% of ₹10,000 = ₹1,000.   

Example 3: TDS on Contractor Payment (Section 194C)   

- Scenario: A company pays ₹1.2 lakh to a contractor.   

- Threshold: ₹30,000 per transaction or ₹1 lakh annually.   

- TDS Rate: 1% (if PAN is provided).   

- TDS Deducted: 1% of ₹1,20,000 = ₹1,200.   

Important Notes for TDS   

- Higher TDS for Missing PAN: If the deductee fails to provide PAN, TDS is deducted at 20% or the 

prescribed rate, whichever is higher.   

- No TDS Below Threshold: No deduction if payments are below the limit (e.g., rent below ₹2.4 lakh 

annually).   

Part 2: Tax Collection at Source (TCS) Calculations   

Key Concepts   

- Collector: Seller of specified goods/services (e.g., car dealer, e-commerce platform).   

- Collectee: Buyer of goods/services.   

- TCS Rate: Ranges from 0.1% to 5%, depending on the goods.   

- Thresholds: TCS applies only if aggregate sales exceed specified limits.   

Steps to Calculate TCS   

1. Identify the Goods/Services: Check if the transaction falls under TCS provisions (e.g., scrap, luxury 

cars).   

2. Verify Thresholds: Ensure sales exceed the annual or per-transaction limit.   

3. Apply TCS Rate: Use the rate specified under Section 206C.   

4. Collect TCS: Calculate tax on the total sale value (unless specified otherwise).   

5. Deposit TCS: Remit the collected tax to the government by the due date.   
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TCS Calculation Examples   

Example 1: TCS on Sale of Scrap (Section 206C(1))   

- Scenario: A business sells scrap worth ₹3 lakh to a buyer.   

- Threshold: ₹2 lakh annually.   

- TCS Rate: 1%.   

- TCS Collected: 1% of ₹3,00,000 = ₹3,000.   

Example 2: TCS on E-Commerce Sales (Section 206C(1H))   

- Scenario: An online seller earns ₹6 lakh from goods sold via Amazon.   

- Threshold: ₹5 lakh annually.   

- TCS Rate: 1%.   

- TCS Collected: 1% of ₹6,00,000 = ₹6,000.   

Example 3: TCS on Luxury Car Purchase (Section 206C(1F))   

- Scenario: A car priced at ₹15 lakh is sold to a buyer.   

- Threshold: ₹10 lakh per vehicle.   

- TCS Rate: 1%.   

- TCS Collected: 1% of ₹15,00,000 = ₹15,000.   

Important Notes for TCS   

- Inclusive or Exclusive of GST? TCS is calculated on the sale value excluding GST.   

- No TCS for Exempt Buyers: Institutions like hospitals or NGOs are exempt from TCS.   

 Part 3: Due Dates and Compliance   

TDS Compliance   

- Deposit Deadline: By the 7th of the next month (e.g., May TDS by June 7).   

- Returns Filing: Quarterly returns (Form 24Q, 26Q) by the 31st of the month following the quarter.   

- Certificates: Issue Form 16 (salary) or Form 16A (non-salary) to deductees.   

TCS Compliance   

- Deposit Deadline: By the 7th of the next month (e.g., May TCS by June 7).   

- Returns Filing: Quarterly returns (Form 27EQ) by the 15th of the month following the quarter.   

- Certificates: Issue Form 27D to buyers.   
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Part 4: Penalties for Errors   

- Late Deduction/Collection: 1% interest per month until tax is remitted.   

- Late Payment: 1.5% interest per month on overdue tax.   

- Non-Filing of Returns: ₹200/day penalty until the return is filed.   

Key Differences Between TDS and TCS   

| Aspect          | TDS                                  | TCS                                  |   

|----------------------|------------------------------------------|------------------------------------------|   

| Trigger           | Deducted from income payments.           | Collected on sale of goods/services.     |   

| Liability         | Payer’s responsibility.                  | Seller’s responsibility.                 |   

| Common Rates     | 1% (contractors) to 30% (non-PAN salary).| 0.1% (overseas remittance) to 5% 

(tendu leaves). |   

| Sections         | Sections 192–194, 194A–J.                | Section 206C(1)–(1H).                    |   

Conclusion   

TDS and TCS calculations require a clear understanding of thresholds, rates, and compliance timelines. 

For TDS, focus on the type of payment and income slabs, while TCS hinges on the category of goods sold 

and aggregate sales value. Both mechanisms ensure the government collects taxes efficiently, reducing 

the burden on taxpayers during annual filings. By adhering to due dates, maintaining accurate records, 

and leveraging digital tools like Form 26AS, businesses and individuals can avoid penalties and ensure 

seamless compliance.   


